

The binomial transforms of the generalized (s, t) -Jacobsthal matrix sequence

Research Article

Sukran UYGUN*

Mathematics Department, Science and Art Faculty, Gaziantep University, Turkey

Received 11 November 2018; accepted (in revised version) 11 January 2019

Abstract: In this paper, we study the binomial transforms of the generalized (s, t) -Jacobsthal matrix sequence $\mathfrak{R}_{n+1}(s, t)_{n \in \mathbb{N}}$; (s, t) -Jacobsthal $J_{n+1}(s, t)_{n \in \mathbb{N}}$ and (s, t) -Jacobsthal Lucas $C_{n+1}(s, t)_{n \in \mathbb{N}}$ matrix sequences. After that by using recurrence relations of them, the generating functions have been founded for these transforms. Finally the relations among these transforms have been demonstrated with deriving new equalities.

MSC: 15A24 • 11B39 • 15B36

Keywords: Generalized (s, t) -sequence • Generalized (s, t) -matrix sequence • (s, t) -Jacobsthal matrix sequence • (s, t) -Jacobsthal Lucas matrix sequence.

© 2019 The Author(s). This is an open access article under the CC BY-NC-ND license (<https://creativecommons.org/licenses/by-nc-nd/3.0/>).

1. Introduction and preliminary

There are so many studies in the literature that are concern about special integer sequences such as Fibonacci, Lucas, Pell, Jacobsthal, Padovan. You can encounter the generalizations of these sequences in all of the references. In [1] the author wrote a book about these integer sequences You can see the generalized number and matrix sequences for Fibonacci and Lucas sequences in [3, 5, 6]. Similarly the author defined number and matrix sequences which generalizes Jacobsthal and Jacobsthal Lucas sequences in [7, 8]. Some authors introduced matrix based transforms for these special sequences. Binomial transform is one of most popular transforms. You can have detailed information about binomial transform in [9, 10]. Falcon defined different binomial transforms of the k -Fibonacci sequence such as falling, rising binomial transforms in [4]. The authors gave binomial transform for generalized (s, t) -matrix sequences in [11]. The authors introduced binomial transforms for the Padovan and Perrin numbers in [12]. And in [13] binomial transforms of the k -Jacobsthal sequence a reintroduced. In [14] the authors gave some properties of Lucas numbers with binomial coefficients. The goal of this paper is to apply the binomial transforms to the generalized Jacobsthal and Jacobsthal Lucas matrix sequences. Also, the generating function of this transform is found by recurrence relations. Finally the relations among these transforms have been demonstrated with deriving new equalities.

In [2], the author defined the Jacobsthal and Jacobsthal Lucas sequence as follows respectively

$$\begin{aligned} j_{n+1} &= j_n + 2j_{n-1} & n \geq 1, (j_0 = 0, j_1 = 1) \\ c_{n+1} &= c_n + 2c_{n-1} & n \geq 1, (c_0 = 0, c_1 = 1) \end{aligned}$$

Now we give some preliminaries related to our study. For a given integer sequence $X = \{x_1, x_2, \dots, x_n, \dots\}$ the binomial transform Y of the sequence X ; $Y(X) = \{y_n\}$ is defined by

$$y_n = \sum_{i=0}^n \binom{n}{i} x_i$$

* E-mail address: suygun@gantep.edu.tr.

Definition 1.1.

Assume that

$$a, b \in \mathbb{R}, \quad s > 0, \quad t \neq 0 \quad s^2 + 8t > 0$$

. The (s, t) -Jacobsthal sequence $\{\hat{j}_n(s, t)\}_{n \in \mathbb{N}}$ is defined by the following recurrence relation:

$$\hat{j}_{n+1}(s, t) = s\hat{j}_n(s, t) + 2t\hat{j}_{n-1}(s, t), \quad (\hat{j}_0(s, t) = 0, \hat{j}_1(s, t) = 1)$$

and, the (s, t) -Jacobsthal Lucas $\{\hat{c}_n(s, t)\}_{n \in \mathbb{N}}$ is defined by the following recurrence relation

$$\hat{c}_{n+1}(s, t) = s\hat{c}_n(s, t) + 2t\hat{c}_{n-1}(s, t), \quad (\hat{c}_0(s, t) = 2, \hat{c}_1(s, t) = s)$$

And the generalized (s, t) Jacobsthal sequence $\{G_n(s, t)\}_{n \in \mathbb{N}}$ is defined by the following recurrence relation

$$G_{n+1}(s, t) = sG_n(s, t) + 2tG_{n-1}(s, t), \quad (G_0(s, t) = a, \hat{c}_1(s, t) = bs)$$

in [7].

By choosing suitable values on a; b, we will obtain (s, t) - Jacobsthal sequence; the (s, t) - Jacobsthal Lucas sequence by the generalized (s, t) - Jacobsthal sequence:

$$\begin{aligned} a = b = 1 &\Rightarrow \{G_n(s, t) = \hat{j}_{n+1}(s, t) \\ a = 2, \quad b = 1 &\Rightarrow \{G_n(s, t) = \hat{c}_n(s, t) \end{aligned}$$

Definition 1.2.

Assume that

$$a, b \in \mathbb{R}, \quad s > 0, \quad t \neq 0 \quad s^2 + 8t > 0$$

. Generalized (s, t) Jacobsthal matrix sequence $\mathfrak{R}_{n+1}(s, t)_{n \in \mathbb{N}}$; (s, t) -Jacobsthal $J_{n+1}(s, t)_{n \in \mathbb{N}}$ and, (s, t) -Jacobsthal Lucas $C_{n+1}(s, t)_{n \in \mathbb{N}}$ matrix sequences are defined by the following recurrence relations in [8]:

$$\mathfrak{R}_{n+1}(s, t) = s\mathfrak{R}_n(s, t) + 2t\mathfrak{R}_{n-1}(s, t) \tag{1}$$

$$J_{n+1}(s, t) = sJ_n(s, t) + 2tJ_{n-1}(s, t) \tag{2}$$

$$C_{n+1}(s, t) = sC_n(s, t) + 2tC_{n-1}(s, t) \tag{3}$$

with initial conditions

$$\mathfrak{R}_0 = \begin{bmatrix} bs & 2a \\ at & (b-a)s \end{bmatrix} \text{ and } \mathfrak{R}_1 = \begin{bmatrix} bs^2 + 2at & 2bs \\ bst & 2at \end{bmatrix}$$

$$J_0(s, t) = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} \text{ and } J_1(s, t) = \begin{bmatrix} s & 2 \\ t & 0 \end{bmatrix}$$

$$C_0(s, t) = \begin{bmatrix} s & 4 \\ 2t & -s \end{bmatrix} \text{ and } C_1(s, t) = \begin{bmatrix} s^2 + 4t & 2s \\ st & 4t \end{bmatrix}$$

By choosing suitable values on a; b, we will obtain (s, t) -Jacobsthal matrix sequence; the (s, t) -Jacobsthal Lucas matrix sequence by the generalized (s, t) Jacobsthal matrix sequence:

$$\begin{aligned} a = b = 1 &\Rightarrow \{\mathfrak{R}_n(s, t) = J_{n+1}(s, t) \\ a = 2, \quad b = 1 &\Rightarrow \{\mathfrak{R}_n(s, t) = C_n(s, t) \end{aligned}$$

In the rest of this paper, for convenience we will use the symbols $\hat{j}_n, \hat{c}_n, G_n, J_n, C_n, \mathfrak{R}_n$ instead of $\hat{j}_n(s, t), \hat{c}_n(s, t), G_n(s, t), J_n(s, t), C_n(s, t), \mathfrak{R}_n(s, t)$ respectively.

Proposition 1.1.

The relations between the number sequences and their matrix sequences are given as

$$J_n = \begin{bmatrix} \hat{j}_{n+1} & 2\hat{j}_n \\ t\hat{j}_n & 2t\hat{j}_{n-1} \end{bmatrix}, C_n = \begin{bmatrix} \hat{c}_{n+1} & 2\hat{c}_n \\ t\hat{c}_n & 2t\hat{c}_{n-1} \end{bmatrix} \text{ and } \mathfrak{R}_n = \begin{bmatrix} G_{n+1} & 2G_n \\ tG_n & 2tG_{n-1} \end{bmatrix}.$$

2. Binomial transform of the (s, t) -Generalized and (s, t) -Jacobsthal, (s, t) -Jacobsthal Lucas matrix sequences

In this section, the binomial transforms of the generalized (s, t) -matrix sequence, (s, t) -Jacobsthal and (s, t) -Jacobsthal Lucas matrix sequences will be introduced.

Definition 2.1.

Let \mathfrak{R}_n , J_n and C_n be the (s, t) -generalized, (s, t) -Jacobsthal and (s, t) -Jacobsthal Lucas matrix sequences, respectively. The binomial transforms of these matrix sequences can be expressed as follows:

i The binomial transform of the generalized (s, t) -matrix sequence is

$$B_n = \sum_{i=0}^n \binom{n}{i} \mathfrak{R}_i$$

ii The binomial transforms of (s, t) -Jacobsthal matrix sequence is

$$\hat{J}_n = \sum_{i=0}^n \binom{n}{i} J_i$$

iii The binomial transforms of (s, t) -Jacobsthal Lucas matrix sequence is

$$\hat{C}_n = \sum_{i=0}^n \binom{n}{i} C_i$$

Lemma 2.1.

For $n \geq 0$, the following equalities are hold:

$$i \ B_{n+1} = \sum_{i=0}^n \binom{n}{i} (\mathfrak{R}_i + \mathfrak{R}_{i+1})$$

$$ii \ \hat{J}_{n+1} = \sum_{i=0}^n \binom{n}{i} (J_i + J_{i+1})$$

$$iii \ \hat{C}_{n+1} = \sum_{i=0}^n \binom{n}{i} (C_i + C_{i+1})$$

Proof. Firstly, in here we will just prove (i), since (ii) and (iii) can be proved by using the same method. By using the definition of binomial transform and the well-known binomial equality $\binom{n+1}{i} = \binom{n}{i} + \binom{n}{i-1}$ and $\binom{n}{n+1} = 0$ it is obtained that

$$\begin{aligned} B_{n+1} &= \sum_{i=0}^{n+1} \binom{n+1}{i} \mathfrak{R}_i \\ &= \mathfrak{R}_0 + \sum_{i=1}^{n+1} \left[\binom{n}{i} + \binom{n}{i-1} \right] \mathfrak{R}_i \\ &= \mathfrak{R}_0 + \sum_{i=1}^{n+1} \binom{n}{i} \mathfrak{R}_i + \sum_{i=0}^n \binom{n}{i} \mathfrak{R}_{i+1} \\ &= \sum_{i=0}^n \binom{n}{i} (\mathfrak{R}_i + \mathfrak{R}_{i+1}) \end{aligned}$$

which is the desired result.

Note that B_{n+1} is also written as $B_{n+1} = B_n + \sum_{i=0}^n \binom{n}{i} \mathfrak{R}_{i+1}$ □

Theorem 2.1.

For $n \geq 0$, the sequences $\{B_n\}$, $\{\hat{J}_n\}$, $\{\hat{C}_n\}$ are verified the following recurrence relations

$$a) \ B_{n+2} = (s+2)B_{n+1} - (s+1-2t)B_n$$

with initial conditions

$$B_0 = \begin{bmatrix} bs & 2a \\ at & (b-a)s \end{bmatrix}, \ B_1 = \begin{bmatrix} bs^2 + bs + 2at & 2bs + 2a \\ bst + at & (b-a)s + 2at \end{bmatrix}$$

b) $\hat{J}_{n+2} = (s+2)\hat{J}_{n+1} - (s+1-t)\hat{J}_n$

$$\hat{J}_0 = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} \text{ and } \hat{J}_1 = \begin{bmatrix} s+1 & 2 \\ t & 1 \end{bmatrix}$$

c) $\hat{C}_{n+2} = (s+2)\hat{C}_{n+1} - (s+1-t)\hat{C}_n$

$$\hat{C}_0 = \begin{bmatrix} s & 4 \\ 2t & -s \end{bmatrix} \text{ and } \hat{C}_1 = \begin{bmatrix} s^2+4t & 2s \\ st & 4t \end{bmatrix}$$

Proof. We only prove the first case because the other cases can be proved with the same way. From Lemma 2.1, we have

$$\begin{aligned} B_{n+1} &= \sum_{i=0}^n \binom{n}{i} (\mathfrak{R}_i + \mathfrak{R}_{i+1}) \\ &= \mathfrak{R}_0 + \mathfrak{R}_1 + \sum_{i=1}^n \binom{n}{i} (\mathfrak{R}_i + \mathfrak{R}_{i+1}) \\ &= \mathfrak{R}_0 + \mathfrak{R}_1 + (s+1) \sum_{i=1}^n \binom{n}{i} \mathfrak{R}_i + 2t \sum_{i=1}^n \binom{n}{i} \mathfrak{R}_{i-1} \pm (s+1)\mathfrak{R}_0 \end{aligned}$$

From Definition 2.1, it is obtained that

$$B_{n+1} = (s+1)B_n + 2t \sum_{i=1}^n \binom{n}{i} \mathfrak{R}_{i-1} + \mathfrak{R}_1 - s\mathfrak{R}_0 \tag{4}$$

putting $n - 1$ instead of n in (4) we have

$$\begin{aligned} B_n &= (s+1)B_{n-1} + 2t \sum_{i=1}^{n-1} \binom{n-1}{i} \mathfrak{R}_{i-1} + \mathfrak{R}_1 - s\mathfrak{R}_0 \\ &= sB_{n-1} + \sum_{i=0}^{n-1} \binom{n-1}{i} \mathfrak{R}_i + 2t \sum_{i=1}^{n-1} \binom{n-1}{i} \mathfrak{R}_{i-1} + \mathfrak{R}_1 - s\mathfrak{R}_0 \\ &= sB_{n-1} + \sum_{i=1}^n \left[\binom{n-1}{i-1} + 2t \binom{n-1}{i} \right] \mathfrak{R}_{i-1} + \mathfrak{R}_1 - s\mathfrak{R}_0 \\ &= sB_{n-1} + \sum_{i=1}^n \left[\binom{n-1}{i-1} + 2t \binom{n-1}{i} \pm 2t \binom{n-1}{i-1} \right] \mathfrak{R}_{i-1} + \mathfrak{R}_1 - s\mathfrak{R}_0 \\ &= sB_{n-1} + \sum_{i=1}^n \left[(1-2t) \binom{n-1}{i-1} + 2t \binom{n}{i} \right] \mathfrak{R}_{i-1} + \mathfrak{R}_1 - s\mathfrak{R}_0 \\ &= (s+1-2t)B_{n-1} + 2t \sum_{i=1}^n \binom{n}{i} \mathfrak{R}_{i-1} + \mathfrak{R}_1 - s\mathfrak{R}_0 \end{aligned}$$

From this equality we have

$$2t \sum_{i=1}^n \binom{n}{i} \mathfrak{R}_{i-1} + \mathfrak{R}_1 - s\mathfrak{R}_0 = B_n - (s+1-2t)B_{n-1}$$

By substituting this expression in (4), we obtain

$$B_{n+1} = (s+2)B_n - (s+1-2t)B_{n-1} \tag{5}$$

which completes the proof. □

The characteristic equation of the binomial transforms of the generalized (s, t) -matrix sequence B_n is $\lambda^2 - (s+2)\lambda + (s-2t+1) = 0$. The roots of this equation are

$$\lambda_1 = \frac{s+2 + \sqrt{s^2+8t}}{2}, \quad \lambda_2 = \frac{s+2 - \sqrt{s^2+8t}}{2}$$

Binet formula are well known in the special integer sequences theory. Binet formula allows us to express the n th term in function of the roots of λ_1 and λ_2 of the characteristic equation, associated the recurrence relation (5). So the Binet formula for B_n can be expressed as

$$B_n = \frac{X\lambda_1^n - Y\lambda_2^n}{\lambda_1 - \lambda_2}$$

$$X = \begin{bmatrix} bs^2 - \lambda_2 bs + 2at & 2bs - 2a\lambda_2 \\ bst - \lambda_2 at & 2at - \lambda_2(b-a)s \end{bmatrix} \tag{6}$$

$$Y = \begin{bmatrix} bs^2 - \lambda_1 bs + 2at & 2bs - 2a\lambda_1 \\ bst - \lambda_1 at & 2at - \lambda_1(b-a)s \end{bmatrix} \tag{7}$$

By choosing corresponding values on a and b in (6) and (7), we can obtain the Binet formula of \hat{J}_n and \hat{C}_n . Namely,

a) For $a = b = 1$; we get the Binet formula for the binomial transforms of (s, t) -Jacobsthal matrix sequence as

$$\hat{J}_{n+1} = \frac{A\lambda_1^n - B\lambda_2^n}{\lambda_1 - \lambda_2} \text{ where}$$

$$A = \begin{bmatrix} s^2 - \lambda_2 s + 2t & 2(s - \lambda_2) \\ t(s - \lambda_2) & 2t \end{bmatrix}, B = \begin{bmatrix} bs^2 - \lambda_1 s + 2t & 2(s - \lambda_1) \\ t(s - \lambda_1) & 2t \end{bmatrix}$$

b) For $a = 2, b = 1$; we get the Binet formula for the binomial transforms of (s, t) -Jacobsthal Lucas matrix sequence

$$\text{as } \hat{C}_n = \frac{C\lambda_1^n - D\lambda_2^n}{\lambda_1 - \lambda_2} \text{ where}$$

$$C = \begin{bmatrix} s^2 - \lambda_2 s + 4t & 2(s - 2\lambda_2) \\ t(s - 2\lambda_2) & 4t - s\lambda_2 \end{bmatrix}, D = \begin{bmatrix} bs^2 - \lambda_1 s + 4t & 2(s - 2\lambda_1) \\ t(s - 2\lambda_1) & 4t - s\lambda_1 \end{bmatrix}.$$

Theorem 2.2.

The generating functions of the binomial transforms of generalized (s, t) -matrix sequence, (s, t) -Jacobsthal matrix sequence, (s, t) -Jacobsthal Lucas matrix sequence are

i)

$$\begin{aligned} B_n(s, t, x) &= \sum_{n=0}^{\infty} B_n x^n = \frac{\mathfrak{R}_0 + x[\mathfrak{R}_1 - (s+1)\mathfrak{R}_0]}{1 - (s+2)x + (s+1-t)x^2} \\ &= \frac{1}{1 - (s+2)x + (s+1-t)x^2} \begin{bmatrix} bs + x(2at - bs) & 2(a + x(bs - as - a)) \\ t(a + x(bs - as - a)) & (b - a)s + x(2at - s^2(b - a) - s(b - a)) \end{bmatrix} \end{aligned}$$

ii)

$$\begin{aligned} J_n(s, t, x) &= \sum_{n=0}^{\infty} \hat{J}_{n+1} x^n = \frac{J_0 + x[J_1 - (s+1)J_0]}{1 - (s+2)x + (s+1-t)x^2} \\ &= \frac{1}{1 - (s+2)x + (s+1-t)x^2} \begin{bmatrix} s + x(2t - s) & 2(1 - x) \\ t(1 - x) & 2tx \end{bmatrix} \end{aligned}$$

iii)

$$\begin{aligned} C_n(s, t, x) &= \sum_{n=0}^{\infty} \hat{C}_n x^n = \frac{C_0 + x[C_1 - (s+1)C_0]}{1 - (s+2)x + (s+1-t)x^2} \\ &= \frac{1}{1 - (s+2)x + (s+1-t)x^2} \begin{bmatrix} s + x(4t - s) & 2(2 - x(s+2)) \\ t(2 - x(s+2)) & -s + x(4t + s^2 - s) \end{bmatrix} \end{aligned}$$

Proof. We just prove the case (i) and the others will be omitted. Let $B_n(s, t, x)$ be generating function for the binomial transform of generalized (s, t) -Jacobsthal matrix sequence. Then,

$$B_n(s, t, x) = B_0 + xB_1 + \dots + x^n B_n + \dots \quad (8)$$

If we multiply $-(s+2)x$ and $(s+1-t)x^2$; with the both sides of the equality (8) respectively, we obtain

$$-(s+2)x B_n(s, t, x) = -(s+2)x B_0 + -(s+2)x^2 B_1 + \dots + -(s+2)x^{n+1} B_n + \dots \quad (9)$$

$$(s+1-2t)x^2 B_n(s, t, x) = (s+1-2t)x^2 B_0 + (s+1-2t)x^3 B_1 + \dots + (s+1-2t)x^{n+2} B_n + \dots \quad (10)$$

Considering (8), (9), (10) we get the following equality

$$B_n(s, t, x) (1 - (s+2)x + (s+1-t)x^2) = B_0 + x(B_1 - (s+2)B_0) \quad (11)$$

Finally, from Theorem 2.1, Definition 2.1, and (11) we have the desired result. \square

We can get the following relations between the generalized (s, t) -matrix sequence, (s, t) -Jacobsthal and (s, t) -Jacobsthal Lucas matrix sequences and the generating functions of the binomial transforms of these sequences, respectively.

- i) Let $r(x) = \frac{\mathfrak{R}_0 + x[\mathfrak{R}_1 - s\mathfrak{R}_0]}{1 - sx - tx^2}$ be the ordinary generating function of the sequence $\{\mathfrak{R}_n\}$: By using the transformation of $\frac{x}{1-x} f\left(\frac{x}{1-x}\right)$ we have the generating function of the binomial transform sequence $\{B_n\}$ in Theorem 2.2-(i).
- ii) Let $j(x) = \frac{J_0 + x[J_1 - sJ_0]}{1 - sx - tx^2}$ be the ordinary generating function of the sequence $\{J_n\}$: By using the transformation of $\frac{x}{1-x} j\left(\frac{x}{1-x}\right)$ we have the generating function of the binomial transform sequence $\{J_n\}$ in Theorem 2.2-(ii).

iii) Let $c(x) = \frac{C_0+x[C_1-sC_0]}{1-sx-tx^2}$ be the ordinary generating function of the sequence $\{C_n\}$: By using the transformation of $\frac{x}{1-x}c\left(\frac{x}{1-x}\right)$ we have the generating function of the binomial transform sequence $\{C_n\}$ in Theorem 2.2-(iii).

Theorem 2.3.

Let $m, n \in \mathbb{N}$; then $\hat{J}_{m+n} = \hat{J}_m \hat{J}_n$.

Proof. We use the induction method. Let $n = 0$, then we get $\hat{J}_{m+0} = \hat{J}_m \hat{J}_0 = \hat{J}_m I$. Assume that $\hat{J}_{m+n} = \hat{J}_m \hat{J}_n$ for $n \leq N$. Then we obtain

$$\begin{aligned} \hat{J}_{m+N+1} &= (s+2)\hat{J}_{m+N} - (s+1-t)\hat{J}_{m+N-1} \\ &= (s+2)\hat{J}_m \hat{J}_N - (s+1-t)\hat{J}_m \hat{J}_{N-1} \\ &= \hat{J}_m [(s+2)\hat{J}_N - (s+1-t)\hat{J}_{N-1}] \\ &= \hat{J}_m \hat{J}_{N+1} \end{aligned}$$

□

Theorem 2.4.

Let $n \in \mathbb{N}$, then

$$\begin{aligned} \mathfrak{R}_{n+1} &= \mathfrak{R}_1 J_n \\ J_{n+1} &= J_1 J_n \\ C_{n+1} &= C_1 J_n \end{aligned}$$

Proof. The proof is easily obtained by using mathematical induction method.

□

Theorem 2.5.

The relations among the transforms B_n, \hat{J}_n and \hat{C}_n can be demonstrated by the following equalities:

$$\begin{aligned} B_{n+1} - B_n &= \mathfrak{R}_1 \hat{J}_n \\ \hat{J}_{n+1} - \hat{J}_n &= J_1 \hat{J}_n \\ \hat{C}_{n+1} - \hat{C}_n &= C_1 \hat{J}_n \end{aligned}$$

Proof. By considering Definition 2.1, Lemma 2.1, we get

$$B_{n+1} = \sum_{i=0}^n \binom{n}{i} (\mathfrak{R}_i + \mathfrak{R}_{i+1}) = B_n + \sum_{i=0}^n \binom{n}{i} \mathfrak{R}_{i+1}.$$

By Theorem 2.4,

$$B_{n+1} - B_n = \sum_{i=0}^n \binom{n}{i} \mathfrak{R}_{i+1} = \sum_{i=0}^n \binom{n}{i} (\mathfrak{R}_1 J_n) = \mathfrak{R}_1 \hat{J}_n$$

This completes the proof of i): The others are made by using the same method.

□

References

[1] T. Koshy, Fibonacci and Lucas Numbers with Applications, John Wiley and Sons Inc., NY (2001).
 [2] A. F. Horadam, Jacobsthal representation numbers, The Fibonacci Quarterly, 34(1), (1996), 40-54.
 [3] S. Falcon and A. Plaza, The k-Fibonacci sequence and the Pascal 2-triangle, Chaos, Solitons Fractals, 33(2007), 38-49.
 [4] S. Falcon and A. Plaza, Binomial Transforms of the k-Fibonacci sequence, International Journal of Nonlinear Sciences and Numerical Simulation, 10(11-12) (2009), 1527-1538.
 [5] H. Civciv, R. Turkmen, On the (s, t) Fibonacci and Fibonacci matrix sequences, ARS Combinatoria, 87 (2008) 161-173.
 [6] H. Civciv, R. Turkmen, Notes on the (s, t)- Lucas and Lucas matrix sequences, ARS Combinatoria, 89 (2008) 271-285.
 [7] S. Uygun, The (s, t)-Jacobsthal and (s, t)-Jacobsthal Lucas sequences, Applied Mathematical Sciences, 70(9), (2015), 3467-3476.

- [8] K. Uslu, S. Uygun, The (s, t) -Jacobsthal and (s, t) -Jacobsthal-Lucas Matrix sequences, *ARS Combinatoria*, 108, (2013) 13-22.
- [9] H. Prodinger, Some information about the binomial transform, *The Fibonacci Quarterly*, 32(5), 1994, 412-415.
- [10] K. W. Chen, Identities from the binomial transform, *Journal of Number Theory*, 124, 2007, 142-150.
- [11] Y. YazlÅk, N. YÅlmaz, N. Taskara, The Generalized (s, t) -Matrix Sequences Binomial Transforms, *Gen. Math. Notes*, 24(1), (2014), 127-136.
- [12] N. YÅlmaz, N. Taskara, Binomial transforms of the Padovan and Perrin numbers, *Journal of Abstract and Applied Mathematics*, (2013) ArticleID941673.
- [13] S. Uygun, A. ErdoÅdu, Binomial transforms of k -Jacobsthal sequences, *Journal of Mathematical and Computational Science*, 7(6), (2017), 1100-1114.
- [14] N. Taskara, K. Uslu, H.H. Gulec, On the properties of Lucas numbers with binomial coefficients, *Applied Mathematics Letters*, 23(1), (2010) 68-72.

Submit your manuscript to IJAAMM and benefit from:

- ▶ Rigorous peer review
- ▶ Immediate publication on acceptance
- ▶ Open access: Articles freely available online
- ▶ High visibility within the field
- ▶ Retaining the copyright to your article

Submit your next manuscript at ▶ editor.ijaamm@gmail.com